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In recent years ,+/& H 5

As the century continues, + H i 5

In this day and age, +8 H {5
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From my perspective, the benefits of this
development outweigh its drawbacks.

In this essay, I intend to compare 1ts advantages and
drawbacks.
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More and more students are choosing to study in
another country for higher education. Do you think
the advantages outweigh its disadvantages?
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In recent years, an increasing number of students
decide to study abroad for tertiary education. In this
essay, 1 will compare 1ts benefits and drawbacks.
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Nowadays people live in the society where
consumer goods are relatively cheaper to buy. Do
you think 1its advantages outweigh its
disadvantages?
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In this day and age, consumer goods are not as
expensive as they used to be. From my
perspective, the advantages of this development
exceed its disadvantages.
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More and more students are choosing to study 1n another
country for higher education.

Attending college overseas 1s becoming increasingly
popular among students.
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Consumer goods are relatively cheaper to buy.

Consumer goods are becoming increasingly affordable to
the public.
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The increasing business and cultural contact between
countries has positive effects.

The growing business and cultural communication across
the border 1s of great importance.
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It would lead to the loss of national identities.

It may contribute to the erosion of national characteristics.
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Traditional 1deas are not helpful for young people to
prepare for modern life.

Traditionally held beliefs serve no useful purpose for
youngsters to seek their fortune in modern society.
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Society would benefit from the ban on all forms of
advertising because it may serve no useful purpose, and

can even be damaging.

Forbidding all types of advertising is of great
importance since 1t makes no difference and even

has negative effects.
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Sending criminals to prison 1s not the effective method to
deal with them. Education and job training should be used

instead.

We should use education and job training rather than send
criminals to prison.
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The range of technology 1s increasing the gap between
poor people and rich people.

Technological development 1s enlarging the disparity
between the wealthy and the impoverished.
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